P PROFESSIONAL EXAMINATION BOARD
@bemminotion Middle School Teacher Eligibility Test - 2018
board 20th Feb 2019 02:30PM

Topic:- Child Development & Pedagogy (CDP)

1) A teacher teaches a topic by telling students to come up with questions and presentations. Which principle of learning

is he/she foIIowing?/Wﬁﬁmﬁwmm%ﬁmmmﬂﬁﬁﬁﬁﬁmm*mm%
| frafaf@a # & g8 e Riguia 1 sqaror &t wre?

1. Transfer of learning / 3TTRIRT T gEATAROT

2. Helpin reconstrucﬁon/gﬂﬁﬂﬁWﬁﬂ?\E

3. Active participation / GTshT TEHTIIAT

4. Learning as a social activity / QTR ATy & =g o SRy

Correct Answer :-

. Active participation / TfshT TgaTRTar

2) What is the most important thing a child should learn from his failures in school performance / T& ¥Td &I ﬁa:stRT
¥ yede H Ul IFAaH ¥ FI Ageaqot a1 FAT Hwelr @i

1. To approach challengers with multiple perspectives. /Ehé' eI & i_lfﬁ?ﬁ' gol arell & T 3|
2. To change their subjects. / 3T9s1 faWAT & SEor=T|

3. To work on time Management skills. / T T HieTeT I FHIH HI&AT

4. To memorize the one right way of achieving success. / Ihcldl U & 98! diie] $I a1g G

Correct Answer :-

. To approach challengers with multiple perspectives. /Ehé' gt & i_lfﬁ?ﬁ' Sl dTell & AT AT

3) Who measured personality based on the two dimensions- extroversion and introversion? / fF¥a safddca &

Fea P aed AR aR® It W A fmar?
1. Cattells/ dhcel

2. Eysenck/3TT$&e®

3. Freud/ %IIs

4. Bandura/ HETI'

Correct Answer :-

. Eysenck/3TS8e

4) can be used to conduct both formative and summative assessment. / FT 39091 AAOTHS
IR ARTCASF IiFdd Sl B FA F AT fFAT AT FHAT B

1. Homework / W

2. Evaluation of teacher effectiveness / T218Teh Srefraefierar &1 IFJ\FZI'IEhTrr
3. Portfolios / ATl

4. Self-assessment of students / BTAT T TI-3TTeholeT



Correct Answer :-

« Portfolios / ACHITorAT

5) has developed a sociocultural approach to cognitive development. / F gaEeHS Rew & Qv
T AN TeHor Rwfia R B

1. Lev Vygotsky / fora arganicaenr
2. Erik Erikson / TR gdIehde

3. Jean Piaget / SfteT Tt

4. Jerome Bruner / SRIA FelX

Correct Answer :-

. Lev Vygotsky / foia arsatcaehr

6) Children can be fully toilet-trained by the age of WK o ikol EI?I'HI'{; Fﬁﬂ}\ff?ﬂ?# itaTag-gfafaT
T ST aFaT g

1. One year / Ueh @¥

2. Two years / &1 a&

3. Three years / cliel a&
4. Four years / IR a¥

Correct Answer :-

. Three years / el a¥

7) What type of theory of development does Erikson propose? / TRFH a fF¥ 9oR & @& ¥ fAqura &
yfaafea frar?

1. Cognitive theory / HellellcHe TR

2. Learning theory / 31f&rare fgeia

3. Psychosexual theory / Heilelfaleh facaid

4. Psychosocial theory / H=IATAIGIS fAgeid

Correct Answer :-

- Psychosocial theory / HAATATIGIS AT

8) What is meant by Classical Conditioning? / ATERT HeThelel (FAAF HINRATAN) FT AdeT FAT 872

1. A stimulus acquires the capacity to evoke a response which was originally evoked by another stimulus. / e 3d<lall, Teh
gfafrar &1 WicHTied et T &THT 9o &l § St AT &7 & Teh 3R 3dolell GarT WeHrfgd @ g gielr
gl

2. A stimulus loses the capacity to evoke a response which was originally evoked by another stimulus. / T 33iofell, Teh

afdfshar T AIcHTEd el T &THAT G &t § S Hef §9 & T 3R Ielolal @Ry Wieqnied & a8 gl gl

3. A voluntary response is lost due to a negatively reinforcing stimulus. / AhRIcHD T T Holqd &lad qrell 3dolel &

FRUT Tafeos gfafear @r S g

4. A voluntary response is followed by a reinforcing stimulus. / T Tdfoas gfafshar & s THh Halqd 3ASTeT grdr
gl

Correct Answer :-




. A stimulus acquires the capacity to evoke a response which was originally evoked by another stimulus. / T& 3dofell, Teh
afafshar &l ScHfed e @ &THdT o #cl & ot {o &9 ¥ U 3R Iadotel garr dicarfed #1318 g
gl

9) What memory is used to remember how to make a paper plane? / 99X Tolel §aIlel & alld &I g (@ & faw
e wfar &1 3wl fear S @2

1. Echoic memory / gfaeafard Fﬂ_ﬁ

2. Iconic memory / W Fﬂﬁ

3. Semantic memory / 2TsGTe Fﬁ{'ﬁ

4. Procedural memory / IfshaTcaeh Fﬁlj%

Correct Answer :-

« Procedural memory / 9fshaTcH® Fﬂ'ﬁ

10) What is the term used to describe the person that a child observes and possibly imitates in observational learning?

/39 gfFd &1 T F&@ & 0 5y areg &1 39T FAm Sar § 99 a=ar 9a7ofr feers & 9ffa #ar
¥ aa: IEH AF 3ARAT §7?

1. Adult / IIEH
2. Model / AlsST

3. Prototype / Wieiesd

4. Teacher / f1&Teh

Correct Answer :-

. Model / ATSS

11) What could be the best way for a teacher to motivate children in the early-adolescent years to go improve
academic performance and develop interest in school? / T et & AT sTal F 39F Q_K&ﬂ?-ﬁ' fraRTaTar &
AT ygdiar F FUR F= 3R Regrea § 37 BF@la &3 F P W &= # 1 9@ e als F7 @
qFHT 87

1. Increase peer pressure and competition / TgITST &l gard 3R gIaEqeT I FGIhT

2. Induce fear of tests, scores and failure through learned helplessness / 3TTRRTH 3THEIAT & ATEIH & G&TON, 37hi 3R
HABAT & ST Pl HH Hlh

3. improve intrinsic motivation by developing concentration on learning tasks and enhance confidence in their intellectual

abilities / 3TfERTH HRAT X Tawrrar fasfla e AR 37 digfos aTAaml 7 cAfaeary dgret HdRE
WO A FUR

4. Provide rewards and incentives / qIEPR 3R dicargT ga

Correct Answer :-

- improve intrinsic motivation by developing concentration on learning tasks and enhance confidence in their intellectual
abilities / 3TTERTA HRAT W TawrErar fawfaa s AR 36T Sigfod aAaEi 7 AcATaary Fgrt HdRE
WO A FUR

12) Extreme deficits in social understanding is common in what childhood disorder? /

AATSF 98T & 3rcaffs FA), aeaaeyr § 5y ReR & aHeg 82
1. Dyslexia / T3&aifeaar
2. Dyscalculia / %ﬁﬁlﬁ’ﬂﬁ'ﬂ



3. ADHD / TEIUTEr (SA1eTd Ua sifaafsraar fder )
4. Autism / 3TfesH )3McAfaaATg(

Correct Answer :-

. Autism / JifeH )3TcATAR(

13) Humanistic theory of personality is proposed by: / Saf&dca &1 ATAGATAG ﬁz}n?r ECC AT gEaifaa f&ar
IT UT:

1. Abraham Maslow / 3TslTgH HATEAr
2. Carl Rogers / &Tel JoTd

3. Pavlov / qrdalia

4. Carl Jung /Wﬁ?’[

Correct Answer :-

. Abraham Maslow / 3TSTTgH HATEGT

14) Schooling is an important requirement for children when they are administered this test. / 579 §<d Y #r Ig

TdEToT AT ST a« 3oTeh THTAT §IelT TF Ageaqor ITaRITHT g
1. Verbal intelligence test / FIf Q@& m 18707

2. Personality test / STTeFdcd TRETOT

3. Culture-fair test / FoaR-thaT gLr&ToT

4, Performance intelligence test / g eTeT E‘!’E\@' 18707

Correct Answer :-

. Verbal intelligence test / FT & mﬂ TreToT

15) Changes that are not due to learning can be attributed to: / gRade s FRIrA & FRoT Flﬁ' ?, 373' ﬁﬁ? faw
fSFATR 3T T ohdT ¢

1. Maturation / TIROeFarcIT

2. Skills / ShTeTel

3. Social influence / ATHTTIR THTT
4. Cultural influence/ '\q'lﬁ_;ﬁiﬁ EEIC)

Correct Answer :-

« Maturation / IIRIeFadT

16) The term Familial factors refers to influence of ./ IIRETR® FR& Ay F YHT HT Hefod Hdar

2l

1. family members / 9TRATR® e

2. school environment on learner/ TG 9 ﬁa:JIT‘—F’JI' F Al
3. facial expressions/ IgX & HIT

4. friend/ T

Correct Answer :-



. family members / 9TRATRSE TEET

17) The role of heredity starts in an individual’s life at the time of . HﬂﬂlﬁﬁT $r ﬂ(\ﬁ'cﬂ', et afea &
Sfaer ¥ §HT ¥ U g ¢

1. Going to school / ﬁa:q'lﬂ'q ciC
2. Maturity / IRYFdT

3. Conception / 3T3TENROT

4. Birth / Sl

Correct Answer :-

. Conception / 3T3TEIROT

18) A hearing loss between the range of 41 to 60 decibels is known as hearing impairment. / 41 & 60 3fa«er
A W F T @ arS TE9T F AT A F T A AT AT B

1. Moderate / ACIH
2. Profound / 3Tgl

3. Mild / |i&

4. Severe / Il

Correct Answer :-

« Moderate / AEITH

19) Law of Effect was introduced by . [ TETT &7 fAas & @RI I fhar = am|
1. Thorndike / UTeTSTSH
2. Skinner / f&ehax

3. Kohler / SlgeR
4. Pavlov / UTa@eliia@

Correct Answer :-

« Thorndike / ATISTSH

20) In inclusive pedagogy, computer is used . | gATad frayoreamex ﬁ,a’mg\?x HT 39GYr e Sar
el

1. To motivate the learner / fRIGTT & INRT =T & forw

2. To provide feedback / Sfafshar gt et & fow

3. All of these / 3'CI'{17=|'?|' e

4. To interact with the learner / TGt & ATYT FTadd == & fow

Correct Answer :-

- All of these / 3T @sfy

21) Which of the following is not associated with chunking? / faFifaf@a #H A Fla ot I @ W}-T &

1. Meaning / 37%



2. Miller / AR
3. Grouping of seven / HTd <hl qHg
4. Long term memory / GIeIhlToldh FF[%

Correct Answer :-

. Long term memory / &IEIehlfoleh Fﬁ_ﬁ

22) Which of the following is not a product of learning? / fFfaf@a # ¥ FiF 3 &1 v o 7 2
1. Knowledge / Tagar
2. Physical structure / $ifaer xaem

3. Skill / IR
4. Maturation / TRy

Correct Answer :-

. Maturation / URU&ar

23) Which of the following points is not consistent with John Dewey’s approach? / Fafaf@d # @ Fia-ar ﬁ?j
ST 3§ F TICHIOT & T AET 82

1. Child is an active learner not a passive observer. / d<dl Ueh aferg tfeTHsRar %’ S e AR vets o_-l'éT ?s'l
2. Human beings learn through a 'hands-on' approach. / Ho™q ‘??33'-3-11“3" tieeahIor & AR T gl

3. Learning should be relevant and practical, not just passive and theoretical. / 39T, JrafR 3R ca@eRe g=r
T, of o shaer AfSHT 3R dquifas|

4. The idea that one will be able to quickly recall the meaning of the material the more one repeats it. / TaaR g &
afFa fom aerel &t 3% Qigrar §, 3T 37 Sedr ¥ I HT Thar|

Correct Answer :-

. The idea that one will be able to quickly recall the meaning of the material the more one repeats it. / f[daR Ig & &
cgfed fore Aol 1 31U Qgdr 8, 38! 31 el ¥ A F FHaM|

24) Which of the following development stages is part of Kohlberg’s theory of moral development? / Afefaa &
¥ i w1 R awon, Fgaad & dAfas e & Reua & fear 2

1. Punishment and obedience orientation/ &l 3R JTATRIRAT S=a@ientor
2. Interpsychological/ Wﬂm

3. Sensorimotor/ TALHIEI

4. Young adolescent/ Jar Rk

Correct Answer :-

. Punishment and obedience orientation/ T 31T JTATRTRAT ﬁ@m

25) Which one of the following is not a process of memory? / AFfaf@a & ¥ #ia @ FF[% (AA) i TH
uftear aidt &2

1. Retention / 37@8IRoT (R&erT)
2. Re-planning / qo?r:ﬁ'a’la?r (R-cenfaiar)

3. Recall / TAROT (Repiel)



4. Learning / 3137 (cIfear)
Correct Answer :-

« Re-planning / g?r:ﬁu’la?r (R-canfeiar)

26) Which type of parenting is characterized by emotional detachment? / fF® YR FT YTA-9INUT, HTGITcHS
srenma A featorar g2

1. Uninvolved parenting / 3—1‘533\2:[ qrefel 9IyoT

2. Authoritative parenting / TSRS HTeleT-aIYoT
3. Dual worker parenting / GIg<r Hf&e UTelel-gIyoT
4. Single parenting / Uehel UTelel-qTYOT

Correct Answer :-

« Uninvolved parenting / 3-1'\'43?31 qrele 9IyoT

27) To improve class discipline, the teacher has to: / Fa1T & HTATHA FT E A & faT, frare #:i

1. Call parent teacher meeting to discuss the situation. / Ufa 9 TaT e & fow AfAHTaS-ReTh do i SI=r
ifgu]

2. Note specific instructions of class rules in the diary. / SRRT # &l T#AT & AGeAt #r Afdse & & Alc FEm
By

3. Evaluate his/her methods and approaches and material./ 379=T faf&ar @ ffeaior 3R @m@alT &1 ?FIRFZIW T
g

4. Consult the class and agree upon a series of punishment./ F&T ¥ TRHAY HAT 3R &8 Fir TH 8[@?»” 9T "HgHd

gl =g

Correct Answer :-

- Evaluate his/her methods and approaches and material./ 37911 faf&rat g gfeawor 3R Gresl & r :ayqﬁo?r C2GI

EUd

28) A 5-year-old child can differentiate his mother from a dog. This is due to which of the following cognitive processes? / 5 HTdl T

o1 U | B TH FX A e HR FHal 81 I8 FufiiEa aarerars ufearst # ¥ fFad sror g2
1. Concept /3TTYROT

2. Attention / 3Td€ITeT

3.Sensation /HdGsT

4. Perception / ST

Correct Answer :-

. Concept /ITYROIT

29) Bipolar disorder also used to be known as: / %ﬂﬂ fapR (sruer fewiTER) & 59 99 A ot ST ST 2
1. Antisocial personality Syndrome/ 3 THIGI% cAfddea A

2. Messiah Disease/ HIIGT T

3. Manic-depression/ 3ITgT 3TdHIG

4. Munchausen syndrome/ HeqHeT I53E{Ca]

Correct Answer :-



+ Manic-depression/ 3ITgT 3TdIG

30) Which of the following situations show aptitude for verbal comprehension? / AFIfaf@a & & Fia
Rfeufaat, alfes awer & e sfigh guid &

1. Writing a poetry. / Tah &hiddr for@sr|

2. Listening and reacting to a friend’s problem. /TR T & gFEEr & '\El,?-l?-lT 3R gfafsar )
3. Acting in a school play. / T faeaTerlT sitee # 3fHAT |

4. Giving a speech in class. / 8T # HTYUT &aT|

Correct Answer :-

. Listening and reacting to a friend’s problem. / &Y 8T $r gaEam &r Getel 3R gfafsar )

Topic:- General Hindi (LIGH)

1) NI Iod B TP THE SIS & TR TR GRT arHma & 8 <riafia, uiish ok wopfa &) @R o3 o 814 81 53 TR 991 & o 7eT1gsl & I 8
— T UTSIR U1 3R e T Y U1 TR W1 37 &) WeTYo sl &) 98t 91 9 I1¢ Hal 8 | TR) A ‘Huray’ § S 99 7Y, 39 IR # TP Her vafod 2|
T Wl & % g9RI AT Ugd TR AN & gdot 9 iR fsaa ot 3R g anfedl & 3R-I4R Yehd 3gd A1 Wl WH-Uie &7 |18 e Sran, 981 3 S|
W WIS $1 BSATS gelt aY A¢ R F1 T & Ao d Usd | 98 THEEIRT Siiaq 4 a% TadT 36T 6N, $© Tl-Te! 78} Bgl ol FHhdll Wi bt aarsy &
YepA F Sfafvad TRY Al B faww W iR STt SEaR) BT W [IHAT BT USar ATl 39 HROI TR @ 9gd W= gid 31 361 faf TRY wamer o &
T SR SRR G uT g °T T 5 g m.aamﬁmmﬁmﬁmmmuﬁ%wmﬁwmma
frpra®? FEl 3y RIM R & WA $T e fFan

ITY T B USHR A9 D T Y= BT I« gaisy|
UR: TR} S & WUTT B ar fa=iwen 82

1. had gAY

2. &hadl enfafor

3. hael Yepfc ST

4. 3O |l

Correct Answer :-

o 3RIFT Tt

2) ATy A9 BT Th UG SIS ¢ TRY | ITRY @17 w@rura & g 2riafva, afkendt s uofa & wR 33 a1 g 81 338 TR 99T & ) HeTgesl & A §
— ST UTSIfer OT 3R g T g U7 TR [T 39 & UeTIeul B 93t 4T | TG Hal 81 MR @H1 ' Aarad’ § A o7 1, 59 IR | TP el yafed gl
FET W1 © % ToR) AT Ugd TRY AR & gdo 9 3R fasga ot 3R Y anfedl & 3eR-3IeR Yedhd 3 A1 Wl WH-wiR &1 |q1e e Sran, 98 3@ wid|
ST WIS P BSATS gt af 7¢ R &1 T & e d Usd | 98 TGS Siiaq $d a9 gadT 36T 6N, TS TEI-Te! 76T Bel ol JHdl| WIS Bt aarsy &
Yedh & SAfafved TRY a1 faww M SRR SiTelt SIaRt ST WY [IHAT HAT ST AT 39 SRR @R 959 WRIH gia A1 381 fa TRY ware § W
T SR SR G UT Y T T S g AT 1 3 &Y WRTYH! A 3 TN Y WIS ot 3T SfR Twe | Y A MRY il Y 3 fyww uikfRufay @
e BEl 3 RIM R & S ST e fHan

I TR B UgHR -1 T 7T Y= BT Ii¥ gargu|
W GGG BT H1 S § 2

1. 7ol famed

2. IR

3. TSR

4. Sisdd

Correct Answer :-

3) NUTE ISY P TP UG Sl § TR | TRY G TIUTE F 8 2iaivd, uReedt iR wepfa &) uR #39 91a 819 €1 33 TR JuTe & 31 0Tl & A &
— ST UTSIfer uT 3R g °T g UT1 TR [T 9 & HeTYeul B 93t 4T | TG Hal 81 TR @11 ' Aurad’ § 4 o7 1, 59 aR | TP el yafed 8l
FET W § 6 BoR) ATet Ugd TR AR & gdo 9 3R fasga &t 3R Y wnfedl & 3eR-3IR Yedhd 3 A1 el WH-1i &1 qieH e Siran, 981 v wid|
S WIS ®I Bf&TS glet a) 7Y R $t Wi A Fed usd | I8 WHESIT sftaq &9 9% gadT 61 gNT, $© TL1-Ta! 18] ST ol Tobar| Wie o) aersr &
Yeh & Afafved TRY Al &1 faww T SRR SiTelt SITaRt &1 WY [IHAT BT ST AT 39 SRR AR 950 WRIH gid A1 381 faf TRY 5o o =
T SR SR G uT Y T T ST g UT1 39 &Y WETYR! A 3 T Y W ot 3T SfR THe | Y A MRY il Y 3 fyww uikfRufat @
FreTae: B8 3 WM W & 9H &7 haar [Fan



IR T B UGHR A9 U T Y= BT I« garsy|
= uReydY TTeg T yafgaTdt <eg g 2

1. HHER

2. FASIR

3. 3MTerdy

4, AgaTdr

Correct Answer :-

4) T g P} TH THE SIS € TR | TR A @I | € wiatg, aiiyedt R uefa B wR s ard g 81 3t TR 96 & ) 7ergen) & A
— T UTSIT o1 3R o T Y U1 TR W1 37 <F WeTYo sl &) 98t 91 ¥ I1¢ Bl 8 | TR A Huray’ § ) 99 7Y, 39 IR # U Her yafod 2|
FET Wl § % g9RI AT Ugd TR AR & gdo 94 iR fosad ot 3R g anfedl & 3ER-I4R Yehd 3gd A1 Wl WH-UiR &7 Aq1e e Sran, 981 3 S|
W9 WIS BT BSATS gelt af A¢ R #1 T # e d Usd | 98 TGN Siiaq 9 a% gadT 36T 6N, $© Wel-He! 78t Bel ol Ghdl| Wi bt aarsy &
YepA F Sfafvad TRY Al B faww W iR STl SEaR) BT W [IHAT BT USar ATl 39 $RON TR G 9gd W= gid 31 361 faif TRY wamer o &
T SR SRR G Ut 7 UT T S T AUT1 7 &) HYTYSUT A U ARN BT R B 3@ 3R THSATI G A TR AN bt 39 faww ufefRifoat &
e FEl 3y RIM R & S $T e fFan

UG T B TG I IB TY T BT IR T3
R IRY R R ?

1. T Tl

2. T Sfetotlic

3. UF FEUT

4. T&H Hall

Correct Answer :-

o TFH SeTallla

5) HUTerg ST BT Th THT SISl ¢ TRY | TRY ST w@rura & g 2riafvr, afedt sk uofa & R 31 a1 g 81 338 TR 99 & ) weigesl & A 8
— ST YT o7 SR g U1 g o7 | TIRY HHTT 39 Y WRTgR Y 31 91 45T & U1g Bl 71 IR A1 Aurerd’ F Y 99 T, 30F IR F U Feel A 2
T T & % g9RY AT Ugd TR ARN & gdot 97 iR fsad ot 3R Y nfedl & 3ER-I4R Yehd ¥gd A1 Wel WH-uiR &1 Aq1e fird Srar, 981 3 wid|
WG WIS BT BSATS gelt @Y T¢I &1 T & e d Usd | 98 WA Siiaq 9 a% gadT 361 6N, $© Tl-He! 76t Bel ol FHhdll Wi bt aarsy &
YepA F Sfafad TRY @l B faww W iR STl SEaRt BT W WIHAT BT USar ATl 39 HRON TR AT 9gd TR gid 31 I fa TR wwe § S
T SR SRR G OT S OT T S g3 AT 1 3 &) HETYSUT A U ARN B R B 3T 3R THSATI S A TR AN by 39 faww ufeiRifomt &
e FEl 3 RIM TR & 51 $T e fHan

UG T B UGB A1 TR T A BT I« I3
o= v &1 fae <rsg g 2

LaA

2. 97

3.9H

4. 3O Gl

Correct Answer :-

6) VTS IST Pt TP UG Sl § TR | TRY G TIUTa F 8 2iaivd, uReedt i wepfa &) uR #39 91a 819 €1 33 TR JuTe & S el & A &
— ST UTSIfer uT 3R g °T g UT1 TR [T 9 & HeTYoul B 93t 4T | TG Bl g1 MR @11 ' Aurad’ § ) 97 1, 59 aR | TP o1 yafed gl
FET ST @ 6 goR) ATet Ugd TR AR & gdo 9 3R fasgd ot 3R g wifedl & 3eR-3IeR Yedhd 3 A1 el WH-wiA &1 q1eF e Siran, 981 3@ wid|
W9 WIS $1 Bf&TS gelt a) ¢ W Ft Wi A FAed usd | I8 WHESIT Sftaq &9 9% T 61 8RN, $© Tt-Tg! 781 ST ol Tobar| Wie &) aersr &
Y & Afafved TRY A &1 faww M SRR STelt SITaRt &1 WY [IHAT BT ST AT 39 SRR @R 9gd WRIH gid A1 381 fa=f TRY 5o o =
T S SR G uT Y T T 7 g UT1 39 &Y WETYS! A 3 TN Y WRIR 3T SR THe | Y A MRY il Y 3 fauw uikfRufat @
FreTae: B8 3 WM W & 9H &7 haar [Fan

I TR B TGP - T 7T Y= BT Si¥ 9argt|
o= i & ared @ 2

1. gfcsper #las

2. 315 &1 Al|H

3. iefpel HHEH



4. [35mH &1 Al|H

Correct Answer :-

« gfidee AlGH

~

7) BT A9 BT Th UG SIS ¢ TRY | ITRY ST w@rura & g 2iafv, afkedt s uefa & R 31 a1 g 81 338 TR 99T & ) HeTgesl & A §
— ST UTSIfer OT 3R g °T g uT1 TR WIS 39 & UeTgeul B 93t 4T | UTg Hal 81 MR @1 ' Aarad’ § A o7 1, 59 IR | TP el yafed gl
FET Wl © % ToR) AT Ugd TR AR & gdo 9 iR fasga &t 3R P wnfeal & 3eR-3IR Yedhd 38 A1 Wl WH-1iR &1 |1e fird Sran, 981 3@ wid|
TG WIS P BSATS gt af T¢ R &1 T & e d Usd | 98 TGS Siiaq $9 a9 TadT 38T N, TS TEl-Te! 76T Bel ol JHdl| WIS Bt aarsy &
Yedh & Afafvad TRY @il &1 faww M SRR SiTelt SIaRt ST Y [IHAT HAT ST AT 39 SRR @R 959 WRIH gia A1 381 fa TRY WA § W
T SR SR G uT Y T T S g UT1 3 &Y WRTYR! A 3 T Y WIS ot 3T SfR Twe | Y A MRY Al Y 3 fyww a9
e BEl o RIM R & S ST e fHan

I TR B UgHR -1 T 7T Y= BT Ii¥ 9argt|
e A A e @t e

1. 7[o7 Y

2. o1 |@fer

3. fawet @fer

4.8 @fer

Correct Answer :-

. & 9@y

8) NHUTeg ST P TP UHE S-S § TRT | TRY @11 TTUTa F 8 2riaivd, uReedt ik wepfa &) wR #39 a1d 819 €1 33 TR JuTe & S WeTgsl & A &
— T YT °T 3R G 1 g OT1 TIRT WIS 37 31 WRTgesl $I 91 45T § UG a1 8 | TR GRT HAUery’ 7 S 99 T, §9P IR § TP HeMT yierd gl
FET ST @ 6 BoR) ATet Ugd TR AR & gdo 9 3R fasga ot 3R Y anfedl # 3eR-3IeR Yedhd 38 A1 el WH-1i &1 q1eH e Siran, 98 3@ wid|
W9 WIS ®I Bf&TS glelt a) 1Y R $t Wi A Fod usd | I8 WHESIT sfta &9 9% gadT 61 gRT, $© TEt-Ta! 181 HaT1 ol Tobar| Wie o) aarsr &
Y & Afafved TRY Al &1 faww M SRR SiTelt SIeaRt ST Y [IHAT BT ST 3T | 39 SRR @R 950 WRIH gid A1 381 fa=f TRY warsy § =
T SR SR G UT Y T T I g UT1 39 &Y WETYe! A 3 T Y WRRIR ot 3T SR T|e | Y 3 MRY il Y 3 fyww uikfRufat @
FreTae: B8 3 WM W & 9H &7 haar [Fan

IR T B UGB -1 U T Y= BT I&R gaq1su |

= U T | IRY AR AErey § S 99?7 59 fog wn yafia g 2

1. ACH

2. ATl

3. FglAT
4. Ffaar

Correct Answer :-

9) U Y P TP YHE TSI € TRI | TR AT TW@IHTE | 8 2riafg, afeeyedt o gopfa & ur 31 a1d gha 81 330t TR 99 & &) HeTgesl & A §
— ST UTSIfer OT 3R g °T gAY UT1 TR JUTS 39 & HETYSul B 98t T | TG Bl g1 TR &1 uread’ § $H 97 1, 59 IR & TP el yafad gl
FET T § {6 goRY Tret Ugd TR AN & gde A iR fasad ot ok R wifedl ® 3R-IWR Yewa v A1 Wl WH-1i &1 ane e S, 98 v w9
ST HISH B BIETE gt ) ¢ R Y @iel A Frpe Usd | T8 @HEEIN S B9 d& gadl 8T 61T, $O Hel-9e! 781 HeT off a1l Hier Bt aar §
Yo & Sffafvad TRY a1 BT e M SRR STelt STaRt &1 WY WIHAT HAT1 ST AT 39 SRR AR 980 W gid A1 381 o= TRY warey § =
T Sfer SR G ur Y T T S g 4TI 37 &Y WETYS ! A A Sl Y W Bl 3T R e | A1 A TRY «l Y su faww aifRufE @
FreTae: B8 o WM W & 9H &7 haar f&an

IR T B UGHR A1 U T Y= BT I« garsy|

T=A: HioH &1 9o & fore RY snfaal &1 e Fi o1 ArEr $-1 s ur ?

1. had fawe Age

2. had SHETel SATeTaX

3. fQwe #lge 3R SeTe SeaR gt

4,58 O FIS AGT

Correct Answer :-



AT 77 P TP T SIS & TR TR N1 WrHTE § & i, TR ok uepfa @) @R o3 ard gl &1 32t TR) J6reT & & 7eTgent & 719 € —
ST YIS Ut 3R g o1 g7 UT1 TR THIS 399 & HETYel &) 931 4T A I1E BRal 81 MR a7 Aarery § S8 o7 Y, 39 IR § TP SgHl yaied 81 wal
wTaT ¢ foF TERY ATd Ugd TRY @il & gde i of fosad 31 o JYgr wifedl # 3eR-3tR Yedhd Ted A1 Wigl @M-WA &1 |1y frd sird1, 981 ¥ 9| o
YIS B HfSATS Bl A ¢ WAl Bt Wi § pd Usd | 98 WHIGCIRI Sita &d q% IadT ¥eT 17, $© TE1-TE! TE1 g1 ol JobdT| His & qarr §
YePpA F Sfafvad TRY A B faww W iR STl SEaR) BT W [IHAT BT USar ATl 39 $RON TR G 9gd W= gid 31 361 faif TRY Tt o &
T SR SRR G OT 7 OT BT S T AUT1 3 &) HETYSUT A U AR BT R B 3@ 3R THSATI G4 A TR AN Y 39 faww ufefRifoat &
frpra®? FEl 3 RIM R & S $T e fFan

I TR B TgHR -4 IR 7T T BT Sk aa1sg|
UR: WIS F} HSA1S g1 IR TR el 9d 9 A 2
133 ¥E

2. R FAEA R

.S A

4. AT TATAT 9T

Correct Answer :-

o AT TUET |

11) TUTEY IY $I TP Y SIS @ TR TR AR W19 | € i, oyt SR uefa &) wR $39 ard gl &1 30t TR) 961 & &1 0gTgeyl & Amd
€ — ST U Ut 3R Yb U1 gAY UT1 IRY AT 57 4 HETYEH! B 98T 4T | 918 Hedl 8 1 TR @R Huray’ ¥ $ 99 Y, 39S IR § Uh He i 21
FET Wl § 6 ToR) AT Ugd TR AR & gdo 9 iR fasad &t 3R P wnfedl & 3ER-3ItR Yedhd v A1 Wl WH-wiR &1 |q1e e Siran, 98 3@ wid|
T WIS P BSATS gt @Y T¢ R #1 T & e d Usd | 98 TGS Siiaq 9 a% gadT 38T 6N, TS TEI-Te! 76T Bel ol JHdl| WIS Bt aarsy &
Yeh & Afafved TRY Al &1 faww M SRR STelt SITaRt ST Y [IHAT BT ST AT 39 SRR AR 950 WRIH gia A1 381 faf TRy wars § W
T SR SR G UT Y T T S g UT1 3 &Y WRTYS! A 3 T Y W ot 3T ofR Twe | Y A MRY il Y 3 fywm uikfRufay @
e BEl o RIM R & S ST e fHan

I TR B UgHR -1 T 7T Y= BT IiX gargu|

R: TRY wET P fww ufvfRufoat 6t aeen @ froma e e 2
1. &ae 7 91 ST

2. el AT O §fET T

3. S o1 Sifet 3R gor or g ar et

4. q@atr o

Correct Answer :-

o S or SiferT 3R gar or g ot gt

12) VA I B Th YU SIS & TR TRY S WrHE | 8§ 2iaid, ufeyed ofk yefa &) aR 39 ara 81a § 1 53t TR 99 & & eyl & A
€ — ST uTSfer Ut 3R Yb T gAY UT1 RY WHTS 57 &Y HETYEu! & 981 4T | 918 Heal 81 TR @R 'Huray’ ¥ $ 99 7Y, 39S IR § T Herl yaied 81
FeT ST § 6 ToR) ATet Ugd TR AR & gdo A 3R fasad &t 3R Y wifedl # 3ER-3IR Wedhd 38 A1 el WH-wi &1 q1e e Sirar, 981 3@ wid|
W9 WIS B Bf&TS gelt a) 7Y WA Ft Wi A Fod usd | I8 WHESIT Sftaq &9 9% gadT 61 SR, $© Tet-Te! T8l ST o Tohar| We &) aersr &
Y & Afafved TRY a1 &1 faww M SRR SiTelt SIeaRt BT WY [IHAT BT ST AT 39 SRR @R 950 WRIH gid A1 381 faf TRY waresy § =
T SR SR G uT Y T T S g UT1 39 &Y WETYS! A 3 TN Y WA ot 3T SR T|e | Y A MRY il Y 3 fyww uikfRufay @
FreTae: BE 3 WM W & 9H &7 haar [Fan

I TR B UgHR -1 T 7T Y= BT Si¥ 9argt|
UL AT BT THE Sl @ ?

1. FTelr

2. #or

3. R

4,93

Correct Answer :-

13) NUTAY IY P TP TG S-oIS @ TR | TR AN W19 | € i, Ry ok uefa &) WR $39 ard 81 €1 320t TR) J6re & &) wgTgesl & A1
& — ST UTaIRRE U1 3R P U ST UT1 TRY WIS 3 & HETgRul B 9T 45T | UG Bl 2 | MR) @R Aurery’ § $8 99 N, 39S 9K H TP B vard g
FgT W1 § {6 g9RI Iret Ugd TR AN & gde A iR fasad ot ok IR wifedl ® 3R-IWR Yewa ved A1 el wH-1iR &1 are e S, 98 v Wi
9 WIS B BiSATS gl oY ¢ RIFT Bt et A Fred Tsd | T8 WHTEEIRT siiad &d 9% dgadl 81§, $O TE1-Tg! Tt Hel off Gadi| HisH &t aarsr §
Yep F Sifafad TRY A B faww WA iR SHTelt SaRY BT W [IHAT BT USdr ATl 39 $RONIRY @R 9gd R gid 31 3T faf TR Tarst o =
T STRrT 3R G OT T T T ST g1 YT | B &) HETGS! 7 U= AR B Wit B & 3R qHE| S A TR | ot 9w faww ufeiRifeat &
FrpTasR FE 3 T TR & WH &1 e fan

ITY T B UGHR A1 U T Y= BT I« garsy|



= e snfoal & gder 99 ok forsaa ot ggr ot & wewd a3 2
1. §YTT ST & olier

2. Gl ST & AT

3. IRT ST & @reT

4,715 FAaTfd & T

Correct Answer :-

o ART ST & ofter

14) VUTAY IY P TP TG S-oITS & TR | TR AN W19 | € i, Ry ok uefa &) WR S ard g1 €1 330 TR) J6rer & &) wgrgesl & A1
T — SfT UTSifer o1 3R geb T g UT1 TR [T 31 &Y HET 6! ) 98t 4gT § U1¢ ST ¢ | TR @ ‘Aurery’ § $4 99 ¢, 59% aR # TP S v=fed ¢
TET AT § {6 gORI A1e Ugd TR AN & gdo 9 iR fasad @t 3R G 1fedl & 3R-IWR Yewd ved &1 el WH-via &1 |re e i, 98 v S|
9 WIS B BiSTS il oY ¢ RIFT Bt el A Fred tsd | T8 WHTEEIRT siad & 9% dadl 81§, $O TE1-Tg! Tt Bel off GadT| HisH ot aar §
Y & Sffafvad TRY a1l P e Fw 3A7 STelt STaRt ST WY WIHAT BT ST 4T 39 SRR ART 980 W gid A1 381 fa=f TRY wrsy § =
T TR 3R G °T T T T ST 3T AT | 7 &) HETgS! 7 U= AR BT Wil B & SR qHS| S A TR | bt 9w fww ufkiRufeat &
FrpTa®T FEl o WM W A W &1 b far|

I T B UGHT R D T U $T IR qqTZYI
U @-HET H B 1IN § ?

1. AR FHE

2. gded |AE

3. Sgehfe &

4. Sfa9] qHAN

Correct Answer :-

15) HUTER 30 F TF TIE S-S @ TR | TRY @R1 T@rura d g =i, aiel iR gopfa @) W 31 ad 8 81 33 TR 99 & & 7eigesl & am
§ — ST UTSIfer Ut 3R gb T gAY UT1 RY WHTST 57 Y HETYou! &) 981 4T | IS Hedl 8 1 TR @R ‘e’ ¥ $) 99 7Y, 39 IR § T Her yaied 81
T T § % g9RI A1el Ugd TR AN & gdo 9 iR fasad @t 3R g a1fedl & 3R-IWR Wehd ¥gd &1 Wl WH-uia &1 |1e fire Siran, 98 v S|
9 Hie &Y Bf3TE gt @ T T Bt @i A Fred tsd | 98 WHTEEY siad S9 9% geadl 61 8, $S TE1-T8) TE1 BeT off HavdT| HielT 9 qarw §
Yo & Srfafvad TRY @il P ey A 3A7 STelt STaRt ST W WIHAT HAET1 ST 4T 39 $RUT TR ART 9gd W 81 31 38 & TRy wwrer § wn
T STRRrT 3R G OT Y OT T ST g1 UT| 7 &) HETgSU! 7 3T AN BT TRt B &aT SR {1 S A TR | ot 9w fww ufkfRufeat &
FreTae: Be 3 WM W & WM & bhaar fari

I T B UGB R D T U BT IR qqZYI
U AUTAT RATR ?

1. UF ST HT ATH

2. 398 A HIE A&

3. fager

4. Th S H =TT

Correct Answer :-

16) 3T T WIHT SUFT
wXor @1 e dierar
dor1 § WS,

geal W g3t § adr aex-H,
9 & gEF W R

oS & Sarer Y NS
FUFR I 9§ A

e do1 § A9 F Tea-aT
HAAF- AT AR

S R & 3rmarer &-
g 8y

fererer 3ifef

g3 33T

et g@r

3O BT AT



I9YFd UGHA F TGH A G AW TS G FT el IA3T
weaT: ‘IR 1 el s FAT gm?

1. 3THHR

2. 9rclTer

3. e

4. 3T Foly

Correct Answer :-

17) TSI HT WIHT FTEHT
T T Rrerw diwar

o1 ¥ WS,

geal 9T 93t § Adr aneT-a,
9T & gFF W R

qelTer & Siarer &y S
FUFR T 9@ A

ReAer do1 & A5t & Tea-am
IAF- AT AR

S fReY & 3marer &-
g 8

fRrerer 3ifeft

3t 35T

HIST g

3ERT BT T

3UYFA TG FY TGHT A IS A AT FeA FT 3o} IAsvl
Yo TETE F AN qEch g ad fred waw Rw W@ ¥

1. geal o 99y e &

2.91% &

3. e & 3mr 4@

4. 915t & gus W

Correct Answer :-

18) TSI HT WIHT FTEHT
T T Rrew diwar

o1 ¥ WS,

geat W g3t § 7d ares-d,
9 & &FE W E

et & Siarer Y S
FUFR T 9F A

ReAer do1 & A5t & Tea-am
IEF- T AR

S Rt & 3marer &-
g 8

fRrerer aifeft

AT 331

It g

3TERT BT a4

39YFd UGHY F TGH A G AW T G FT el IA3T
TRET: HTRIRT FT qUiaT R T H fRam amm ¥

L foreTeT & A% F ¥ A

2. 78 & THAS & T H

3. fordEreT 1 Gl & ®9 #

4,38 O RIS A8

Correct Answer :-



19) TSI HT WIHT FTETHT
X T Rrew diwar

o1 ¥ wETS,

geal 9T 93t § Adr aneT-a,
9 & gFF W R

TSl & Siarer &y S
FUFR §T G A

ReAer do1 & A5t & Tea-am
IAF- AT AR

S fReY & 3marer &-
g 8

fRrerer 3ifeft

3t 35T

HIST g

3TERT BT a4

3UYFA TG FY TGHT A IS A AT FeA FT 3o} IABvl
WREA: FAEF & FiT AT 3547 §72

L. Sl

2. AR

3. @iar

4, I

Correct Answer :-

20) 3{TRTr T AIHT SETHT
TTor @1 e ierar
dor1 § WS,

geal W g3t § adr aex-d,
9 & gFF W R

ot & Sarer Y NS
FUFR g 9§ A

Rerer da1 § A9 F aIea-a
IHTeTh- atel AR

S R & 3marer &-
g @

frerer aifef

g3t 331

et g&r

3TERT BT 4T

3UGFA TG FY TGHT A IS I AT FeA FT 3ca} IAvl
weeT: ‘R sty @ oFmoaF § 2

1. e\ &1 g S

2. Re# &1 o A

3. Frer &1 g31 S

4. RISH & Ielc M=

Correct Answer :-

« RIeE #1390 S

21) 3THTSr T AIHT SUFT
TTer @1 e diwrar
dor1 § WS,

geal W g3t § adr wex-d,
9 & gE W R

JoTer & Sarer Y S



FUFR T 9F 7

o

Rwer dor § A8t & area-am

S-S AR

S Rl & 3marer &-

g 8

e 3ifeh

e

e g

38T BT =T

39T UGHIA F TGH AN G AW TS G FT el IABT
W qIS A Do\ diwar awg A ey 4w 72
L

2. drerH

3. 1

4. 3R Tl

Correct Answer :-

22) THI HT HIHT dEHT

TTor @1 e @iwrar

dor1 ¥ WS,

geet W a8 ¥ adr wew-a,

e € qEE W E

qelTer & Siarel T 3N

FUFR T 99 7

ReAer do1 & A5t & Tea-am

IEF- T AR

S fREY & 3marer &-

g

e aifef

3t 35T

It gl

3TERT BT I

39YFd UGHIA F TGH AN G AW T G FT el IA3T
T Teme & 93t W R Arer-oer Gor frad sifar weha @ @ #2
1. geall WX TEN WeT & FHET

2.90s # & A5 & FAE

3. I WX Gorarel 3T & FAE

4, ST 3NE F AT

Correct Answer :-

o Serdt 30T & g

23) THI HT HIHT EHT
TTor @1 Rrerer @iwrar
o1 ¥ WS,

geat W g3t § 7d ares-d,
9T & gFF W E

qelTer & Siarel T 3aSY
FUFR T 9@ A

ReAer do1 & A5t & Tea-am
IEAF- T AR

S F & A &-
g 8

e 3ifeft

AT 331

HIeT gl

3TERT BT T4



I9YFd UGHA F TGH A G AW TS G FT el IA3T
T AR I qHigar aeg 87

1. %ad Femdr

2. hael HIY

3. Fad FHehr

4. 39qerd |l

Correct Answer :-

o 3WIFT T

24) THIA HT FIBT dEHT
T T Rrerw diwar

o1 ¥ WS,

geal 9T 93t § Adr aneT-a,
9T & gFF W R

qelTer & Siarer &y S
FUFR T 9@ A

ReAer do1 & A5 & Tea-am
IAF- AT AR

S fReY & 3marer &-
g 8

fRrerer 3ifeft

3t 35T

HIST g

3ERT BT T

3UYFA TG FY TGHT A IS A AT FeA FT 3o} IAsvl
WeeT: ‘FTEr FT qATIET el § ?

1. |far

2.8

3.9

4, e

Correct Answer :-

25) TSI HT HIBT SIEHT
T T Rrew diwar

o1 ¥ WS,

geat W g3t § 7d ares-d,
9 & &FE W E

et & Siarer Y S
FUFR T 9F A

ReAer do1 & A5t & Tea-am
IEF- T AR

S Rt & 3marer &-
g 8

fRrerer aifeft

AT 331

It g

3TERT BT a4

39YFd UGHY F TGH A G AW T G FT el IA3T
TR ‘YT FAT 8 AT 82

LgTH & A QT

PACERCIC IR

3.f% amar &

4,38 ST §

Correct Answer :-



26) THIA HT WIHT STHFT
T T Rrerw diear
o1 ¥ wETs,

geal 9T 93t § Adr aneT-a,
9 & gFF W R

et & Siarer &y S
FUFR §T 9@ A

ReAer do1 & A5 & Tea-aml
IAAF- AT AR

S fReY & 3marer &-
g B

fRrerer 3ifef

3t 35T

HIST g

3ERT BT T

3UYFA TG FY TGHT AN IS I AT FeA FT 3o} IABvl
WRE: ‘AT HT GATET ey At 82

L. 3T

2. A7

3.3

4. 913TeT

Correct Answer :-

27) JTRIT T AIHT SETHT
TTor @1 e diwrar
dor1 § WS,

geal W gt § adr aex-d,
9 & gFF W R

ot & Sarer Y 3HANS
FUFR g 9§ A

e do1 § A9 F Tea-a
ITeTh- atell AR

A R & 3marer &-
g

frerer 3ifef

gt 3T

et gor

3TERT BT 4T

3UGFA TG FY TGHT A IS I AT FeA FT 3} IaAsvl
9ReT: “TeNTer HT gATHQr oeg § ?

1. Fad fhgs

2. Had Fh

3. Fad TR

4. IURYerT |l

Correct Answer :-

o 3RIFT TIr

28) 3{TTer T AIHT SUFT
wTor @1 e diwrar
dor1 § WS,

geal W ggt § adr wex-H,
9 & gEF W R

qaTer & Sarer Y S



FUFR T 9F 7

o

Rarer do1 & 937 & oA

IAAH- ST AR
S Ry & 3marer &-
g 8

e aifeft
e

HIeT g
3ERT BT AT

39T UGHIA F TGH AN G AW TS G FT el IABT
TeeT: W¥AA Tediy ¥ vgrs fRud A @ & wr ¥

1. 2lsd gu Rt i aXE

2.7 gU fopdeT T e

3.@3 gu fohdmeT 1 E

4.9 gu fopaer 1 @

Correct Answer :-

29) THIA HT WIHT IUHFT

TTor @1 e @iwrar

dor1 ¥ WS,

geet W a8 ¥ adr wew-a,

9E ) g5 W e

qelTer & Siarel T 3N

FUFR T 99 7

ReAer do1 & A5t & Tea-am

IEF- T AR

S fREY & 3marer &-

g

e aifef

3t 35T

HIeT g

3TERT BT I

39YFd UGHIA F TGH AN G AW T G FT el IA3T
TeeT: WA Tediy # aREH feem F gaer gy frwd sty R & e ¥
1. 3IUHR AT RE

2. Frera oX gererel 3mer T sty

3. JolTel & 95 fr e

4, 37NE & A

Correct Answer :-

30) 3{THTer FT HIHT STErHT
TTor @1 Rrerer @iwrar
o1 ¥ WS,

geat W g3t § 7d ares-d,
9T & gFF W E

qelTer & Siarel T 3aSY
FUFR T 9@ A

ReAer do1 & A5t & Tea-am
IEAF- T AR

S F & A &-
g 8

e 3ifeft

AT 331

HIeT gl

3TERT BT T4



I9YFd UGHA F TGH A G AW TS G FT el IA3T
veeT: qd ST W e @A seuwR A gela @ er ¥
1.gUs # &8 @5t @

2. ety v 3mar &1

3. STefcll 37Mdr @

4. 3T Foly

Correct Answer :-

Topic:- General Sanskrit(L2GS)

Y edlet ufsear srnfafiterr veAE EHe FIAd -
ONecAHAT T ACURTHAT A |
TG RN T Freh: T eI ||
TIeed =Iacare &Y el fdd |

HAYAT dad ard Hed: Yl FATR ||

UY: UrEGEATs o s |

Correct Answer :-



3)
uTace ufacar ueaed ‘{_I;f&idjrdi qIqd -

3 PISTEA? 3§ TIRARH| AF gd T T:| Th d HalA:: §IH, Id
Tar fagdr $fd A vafad:) gfadd @ Sl SR (FIeTed)
A AT #AH Fed o dhael Th TR 3fed, MU afa:, 9=, gy,

ATH, FIHTIedA 3T AT T Tfed Id AF oA HRATT G
Tshdel HAfd| dd Udd HAAIROT: ARAII-REdeIhEdel AMH 3
AH doygfe: TGl I T g RAdeaiFd: A 3eded: Iofed|
HA HATH BRI ST Id: TIBA: SAHETAY o EeSd| Tel

HE STHEAATT aTqUﬁgr HETTBITA dal AA §GIH AAGHRR Gleliid |
TaToddl 3E T 36 I FTsTl TRAA| HeAdhifal aedf« o
TRATA| 37, 3feichiel, TovI=1 fAfdcar guaTeraria|

HRTd HOREGT: TV: AT FISGHIAT wllgAZAT dT Hzo[NAT TATIA(|
HRad AT ‘TIPIY TAATT| AT To¢ar Jrem: R{RE: T 3dia gdleed] o
AT J[ETcdT 3TUYT ISTod | HSgloaAllel shical o #aied | #fiAle: afvls
A SIgET H>TAT TAATT | dar d 38 & TGHTATTA | RTINS | d
ALTTATET 3T: THEAA a7 31€ T ST s1anfa| Jor Sam: 7 9oy
IEIcAT QAW IeStod ddd AATT Siorehviiaear Fgicar &g =
Radearmerariecd

3T TITEA: o HETesd -

1



Correct Answer :-

® oot afsear srenfafiery T e gaad -
IOIECAHdT AT A HAATEd: |
UTETG FRIEGIEMN T hreh: b ITesRIT ||
TSy FdcUTG aEAYd Sfef Taeid |

HAYAT dad ard Hel: Yol FHTR ||

Td: 3cddAdT Iead |



gfee gfocar yeasy ﬂﬁd::l,rdi Hqaad -

36 HISfEA? 36 TIRARA| FA gF T T:| Th  HAGHEAT: TIH, I
TaR fager i A= gafed:| gfada AT e (FIeEd)
A T A H{od o chdel Teh TCAehd 37T, MG gfa:, =g, av,
ATH, FIFIeaA HT 3T ¥ IEfed Id AF Ied HRATT G
TSRATel HATd| T TN HHUNROT: ARAT-RAdedieheerel A 3
AA Feyfel: FelRl: I T AT Rudsgiod: A 38 Ioafed|
A FART IERAAAT FId Id: TTTOAY: SARTTAY o TS| FaT
3E STTRTACACT IO IHPTBIH T FH §oIH, IAecaPR alerd |
TaTodrdl 3§ TG 36 I FGsTTT TRANHA| el I T
TRATTH| 376, 3Teichtel JeTI-1 fAfecarT guaeraria|

HRTA FOREET: TY: AT FISGHTAT SAgHZAT a1 FA>oIAT FATIAT |
HI¥Td AT TIHY TAGATT| AT TSCAT arem: RRE: T 7Ad9 TGfed] o
AT I[EIcdl 3TMI0T IeSTodd | FSEloeAllel shical T seTafod | #fiHeL: vt
AT 6T AT TAYA(T | T&T T 36 GWATHATA| $& S I
ALTTATET HT: ThEAA T 316 Aol st Jom Sam: #7{d gew
I[EIcAT QAL IeSToed dild AATT Siotehviiaedrr Fgicar SR =
Redearneeam=icd

' URTT ' ScATCATAY 3 T Asq: TIF: ?



* ool ufdear srelfafEsesy weaey TGHR FIA -
3epTall ATREd THET Shifaa a=er afd |
?@H:g‘q’%@‘rgwmaﬂwﬁn

I7g: T8T1d: ASTRT AcaH ARG T |
IIHIRT JEITE e Glccdsid S ||

IJET' Yoy TAcgHFa-egdcgIH 3¢ UGH|



UR=de gfecar 9eaTEy ?_J,ﬁd;l’rdi T -
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AT AT
4. 2
Correct Answer :-
a@anﬂﬁﬁ

Topic:- Science (SCI)

1) A teacher demonstrates an experiment to verify Newton’s law in class. He then asks students for simple
examples that prove the same law. Which ability is he trying to develop? / Tdh Rrerw DET i gcqd & gl &t
FAIUd HA & Y T vt welRia Hear 81 9 e ol | Iva Sarevn & g Fear & st wuH faw wifa
HYd g1 98 ford &rmar ) fasRia HeA 3 HIR o7 @1 8?2

1. Acceptation or rejection of the hypothesiS/QﬁWq?ﬂ Fr Rﬁﬁjﬁ ar 3-1?—“@@% Fr
2. Flexible and divergent thinking / edell 3R faf@est Rider &r

3. Express the task in terms of goals / TT&T & Tl H H A TFd FA T

4. Correlation between various phenomena / fafiee T3l & o Ggaey &

Correct Answer :-

. Correlation between various phenomena / faffieat g3t & &g @gaey v

2) Just as multi-flow map is used for cause and effect, a bridge-map is used for analogies and comparisons. What is its
significance? / TSI aXg #AA-Fal AT FT 39901, FROT 3T voma & fAv Far aan §, 330 awg v Fe-dw &1
39N, HqEqaraHt AR gaensit & v fFar Srar ¥ swE Feed 4T 82

1. Effective method in teaching science / TaaTeT T80T & waTdT alienr|
2. Creates a playful mood / 3Teifegd AAIGT STdT &l

3. Improves quiz abilities/ TR &HATI H JUR T gl

4. Improves comprehension power / THST eMed P FeIdT &l

Correct Answer :-

. Effective method in teaching science / TaaTeT TAGTOT H WHET aienT|

3) A current carrying conductor is placed normal to a uniform magnetic field. Keeping the direction of the magnetic field same, the current
through the conductor is reversed. What do you observe? /



ez aes garew F vF T (AT 87 F THEET T § @ A ¥ GER 849 A e H 7 @ qe, gEes &

~o' s

ATeIH A Regd F s BIr Srar g1 3T #1241 @

1. The force acting on the conductor will be doubled. / {FITHEF O ofdT @l ol a?ﬁT ET IGI %I

2. The force acting on the conductor becomes zero. / F_FIIFI?F 9T o9l T@T §el e ?f IR %"I

3. The conductor will remain in the state of rest. / W e 3raTar # weml

4. The direction of motion of the conductor will be reversed. / {I’W Fraria Hr G 1 3o GIr Frar %’I

Correct Answer :-

« The direction of motion of the conductor will be reversed. / W Frafa T er & 3o I AT gl

4) What happens when two balloons rubbed with a woolen cloth are brought close to each other? /
FIT AT & A9 & TeAR TF Fell FI3 { WEH UFh q@X & U9 ¢ AT 82

1. They repel each other./ @ W—Q‘TT # AT =a g

2. They attract each other. / d W—E‘{H’T FT IMHNT FT

3. They stick together. / T W—q:\‘:ﬂ' T RAus w/a £

4. They neither repel nor attract each other. / ¥ 7 & Th-gaR @1 3R fapid g1d § 3R 71 € eepfifa g 71

Correct Answer :-

- They repel each other./ & Ush-gaX &I fasfla ad &

5) What happens when a glass rod is rubbed with silk? /
FAT AT & 9 TF HiT HT BT P WQWH § TIST AT 82
1. Glass rod becomes negatively charged and silk becomes positively charged. /
T S KOUMcHS AR g1 SIcll & 3R WA Uelicrsh AT gr S gl
2. Both glass rod and silk become negatively charged. /
ToITd U3 3R WA Sl HOcA®s AT &1 St 8
3. Glass rod becomes positively charged and silk becomes negatively charged. /
T TS YT AR B Selt ¥ 3R Y= U IR 8 S B
4. Both glass rod and silk become positively charged. /

A A 3R ITH ST 4TS ARG 8 91d g

Correct Answer :-

« Glass rod becomes positively charged and silk becomes negatively charged. /

T IS YIS AR 81 Sl & 3R YW Buicte AT 81 o 21

6) A fine powder is sprinkled on the carom board because it Vi
T AL UBsT F A 9% W Bswr e § F6F 7

1. increases the friction /EFW FI FGT &r %’I

2. Reduces the friction / E0T &I & T T Bl

3. gives correct direction to the striker / TEISHT Ea) H?f f&em &ar %’I

4. reduces the effect of gravity/w F TG P FHF FT ST &l
Correct Answer :-

. Reduces the friction / I¥UT &I &H & ST gl

7) How many naturally occurring amino acids are there? /



TFTaE T F Ic9e @ aT TR I fhae TER & @ §?

1.22

Correct Answer :-

« 20

8) If a beam of white light falls on a plane mirror at an angle of incidence 30°, then the angle of reflection for the red color is: /
iy Thg yah1er Y T FFIOT 30° & YA FT W UF TAJA gU0T W Ul §, A ol @1 & gfafes &1 Fior §:
1.30°

2.15°

3. Greater than 30° / 30° ¥ 3f¥&

4. Less than 30° / 30° ¥ &H

Correct Answer :-

e 30°

9) Sambu lives in a slum, drinking water usually gets contaminated. He is prone to get diseases like______ . /

WY U FISICE H @T B, 6 DA FT G FAI: gRG @ Srar §1 3@ S deniar @ A gaoran(@Esmae) B
1. tuberculosis / &TIRI3T

2. measles /| @I

3. chicken pox / JTH

4. typhoid and cholera / TTSHISS 3R HTeRT

Correct Answer :-

« typhoid and cholera/ @8HTSS 3R FHieRT

10) An object of 3 cm height is placed at a distance of 15 cm from a convex lens of focal length 10 cm. What is the size of the image
obtained? /

& 3 YA IS A avg F 10 IR iFd oS qS UF 39 oW § 15 9 A gft W @ Jrar §) wed s #v
IFR T 82

1.2.5cm / 2.5 ¥T
2.6cm / 6 FaAT
3.3cm / 3 GHA
4.9cm / 9 THAT

Correct Answer :-

« 6cm / 6 QAT

11) Which of the following statements is true regarding sound?/
PR A saTFmam Faet Faa
1. Sound is a mechanical wave which needs a material medium for its propagation./
&gfel U e 9T ¢, o0 30 9aR & fov ve #ifas amegsr $r sraegsdr giar g
2. Sound is a mechanical wave which doesn’t need a material medium for its propagation./

eafey Ueh ity aiel ¢, o 38% yaR & fav #iifae aAregsm & 3raegenar «& g &1



3. Sound is a mechanical wave, so it can even pass through vacuum./

a3l T I a9 §, 58T I8 Fad & Area® § off 3R UR S Hhdr B
4. Sound is a transverse wave. / & U@ 3R AT &
Correct Answer :-

« Sound is a mechanical wave which needs a material medium for its propagation./

eFfd U TS KT §, O 59 TR & v v fifas deaw f 3nadewdr g gl

12) Which of the following can be used to make the inverted image erect? /

3adt yfafers A A = § Qe Fwfa@a & @ Fa a1 39390 B o @@ &
1. Concave lens / 37dddl o

2. Plane mirror / T#Fde UUT

3. Convex mirror / 3Tl gUuT

4, Convex lens / 3T o

Correct Answer :-

« Convex lens / 3d¢l o/ F

13) The amount of light entering the human eye is controlled by: /

A A9 # GdU T arel WereAr B A SHF g@nr e @ @
1. Iris / IRaTR=T

2. Cornea / SifordT

3. Pupil /g?l?»ﬁ

4. Retina / ¥fe=r

Correct Answer :-

o Iris / 9RATRERT

14) We feel more comfortable in light coloured cloths in summer than dark coloured cloths because: /

aff #F goF T & FUST A 9 AVF AT AgHH FId ¢ FiTH MY T & F93 §:

1. Light coloured cloths absorbs more heat radiation/?kﬁn’ T & Fug, JA¥F 37 R[0T FF 3gng =g %I
2. Light coloured cloths absorbs less heat radiation /Bodh T & F93, &F 37 a0 & 3T 9 %I

3. Dark coloured cloths radiate more heat radiation /?I%'l' T & EFQ? I Fo ﬁﬁOTUT, ICEAGEIG %I

4. Light coloured cloths absorbs more moisture /Bﬁ? [TFH 5‘1@ 3Hfp TH BT TNV B %I

Correct Answer :-

« Light coloured cloths absorbs less heat radiation / g {@T & HUS, HH 357 [AfR0T FI 3@AM™T Fd £l

15) Why are large poultry farms constructed? /

T3 Fage/Ad BHt F1 BT F=4t R S 32

1. To raise broilers for chicken meat in large numbers. /
Rt AE & AT 97 J&AT # §igoR do & o]

2. All the above facts. /

S9dFd @l qu|

3. To develop very good hatchery for egg layers, in large numbers. /

ﬁﬁwﬁﬁﬁﬁ%ﬁvagﬁwmﬁﬁamﬁ%ﬁm



4. There is low maintenance requirement for developing poultry. /
FIHCUTA & [IHN & oY HT TG BT AT Bieil ¢

Correct Answer :-

o All the above facts. /

16) If a grass hopper is eaten by a frog, then the energy transfer is from /

IR vF e F FAew @1 Aar §, A WH Foll TUAROT @ B-

1. Producers to decomposers. /3cdTGerl & TTECHhT

2. Producers to primary consumers. /3cOTgehl & IrAfAe IueNeFarst &

3. Secondary consumers to primary consumers. /E.‘.ﬁ?—ﬁ'&ﬂw‘ 3YHEFAT3T o grafAe 3Tt 7
4. Primary consumers to secondary consumers. / JrIfieh IT&Fast & aﬁ%ﬁw STHFATHAT 7

Correct Answer :-

« Primary consumers to secondary consumers. / ST2He 3THFATIT T aﬁ?ﬁw 3THFATHAT H

17) Tincture of iodine is made by dissolving /

IAET FT Sy e # § F O FX qemn S &

1. Iodine and sodium chloride / 3P 3R WZTT FoiRSz

2. Todine and potassium iodide in ethanol / 3317-!#-[ H IMEE 3R gl m'?;'l's'fs'
3. Todine and glycerol / 3RS 3R FaERIer

4. lodine and water / 3TAET 3T gl

Correct Answer :-

« Todine and potassium iodide in ethanol / 3dATel H ST 3R MRTF 3MA=ES

18) Find the incorrect statement /
AT FUA AT PfAC
1. Butter is separated by churning /
AFG FUF @RI AT haT ST B
2. Components of a mixture change their properties when mixed. / =
T TRAT & agd o9 AT R ara € a 39e o @ seerd gl
3. A pure substance has a fixed melting and boiling point /
T et erd @ U AR o AR Fayein g gl
4, Milk is a mixture /
gy & fAsor Bl
Correct Answer :-

« Components of a mixture change their properties when mixed. / =

T fAHOT & aa Sid AT fRY Sd €, d 39e o @ Seerd &

19) Freezing point and boiling point of pure water at sea level are respectively: /
g T W Y I #1 o 3R Fageis Fawfar ¢ :

1. 09C and 100°C / 0°C 31 100°C



2. 37°C and 100°C / 379C 3R 100°C
3. 49C and 100°C / 49C 31} 100°C

4. 1000C and 0°C / 100°C 3R 0°C
Correct Answer :-

« 09C and 100°C / 0°C 31 100°C

20) Identify the displacement reaction which will not take place. /

0 Rruge affRar st afea a8 @ef, 3w g W

1. Copper metal dipped in FeSO4(,). / HIR T FeSOy(aq) ) g g3 gl

2. Tron metal dipped in CuSOy(aq). / g 4Td CuSO4(aq)- H geT g3 gl

3. Magnesium metal dipped in ZnSOyaq)- | HeAfTe rq ZnSOy4(aq)- H ESl §3-IT gl
4. Aluminium metal dipped in CuSO4(aq)- /Q?{liﬁﬁqﬂ UTq CuSO4(aq)- k| QT g3l gl

Correct Answer :-

+ Copper metal dipped in FeSOy(,q). / HI 1 FeSOy(aq) H ger §3-1T gl

21) The dimensions of torque are: /
aF F I

1. [MLT!]

2. [M2L2T?

3. [ML2T?

4, [ML2T2]

Correct Answer :-

22) The process of depositing a layer of any desired metal on another material by means of electricity is called: /
el & ameasr & el aifda arg A wa Bl e anTelt W ST R A iR B wer S @
1. Electrification / faegcireror

2. Electrocution / ﬁa:{lff AqY

3. Electroplating / faggceraer

4. Electrolysis / ﬁa:gr—r Aqge

Correct Answer :-

« Electroplating / ﬁagaﬁqfrr

23) The Science Teacher brought a white solid (X)to the class and informed the students that she had used it for cooking at home. When
students touched the solid with wet fingers and rubbed it between fingers. it felt soapy to touch. It also turned red litmus indicator paper
blue.Identify X./

e et wam F wF whe 3N (X) dF U9 SET A gRAT R F 37 W W wE wE e & e @ s9ahr R
S ot o e 3afaat & w1y 39 o F T R vd safaat & e A 5@ e, A 3% 9% g ST o9 $Ee AT
foeww gas I 1 oft A Gor # aga 7w X F ggEE

1. Common salt. / ATYRUT AHSD |
2. Sugar. / AT

3. Baking powder. / 3f&her U13sv|



4, Maida powder. / #eT UT3sX|

Correct Answer :-

« Baking powder. / ST I3

24) A base among the following is: /
Amfaf@a # @ ™ ar

1. CuO

2.CO,

3.50,

4.NO,

Correct Answer :-

« CuO

25) Calculate the mass of MgSO4 which will contain the same number of molecules as contained in 10.6 g of Na,CO5.
[Atomic masses: Mg=24u,S=32u,0=16u, H=1u,Na=23u,C=12u] /

MgSO, ¥ 30 FegATe $Y ore HY, s e st # d&w, Nayo; & 10.6 I & fafea ot & wear & wa T
gl

[WTU:I_,' GcgHATeT: Mg=24u,S=32u,0=16u, H=1u, Na=23u,C=12 u]
1.12g /12 1A

2.106¢g / 10.6 ImHA

3.120¢g / 120 I

4.01G/0.1G

Correct Answer :-

e 12g /12 I H

26) When 10g of sugar is added to 50ml of water taken in a beaker and mixed well what change is seen in the volume of the solution
formed? /

T & AT v 50 FAeheler el & S9 10 I <A sroa I=8 & Ao s & Y AT Reas i amr & Far oRads
&@T S #?

1. Volume of solution decreases to 40ml. /
faerel &l 3 ade 40 A a Te Siar &l
2. Volume of solution remains the same at 50 ml. /
faerae @ 3madeT 50 fAeleley I FA @ &l
3. Volume of solution increases to 60 ml and then decreases to 40 ml. /
faeas @1 3madsT 60 fAdieliey d& Jg ofar § 3R Y 40 ey a& =¢ S g1
4. Volume of solution increases to 60 ml. /
st 1 3Iae 60 fAeelley d& §¢ STdT 8l
Correct Answer :-
« Volume of solution remains the same at 50 ml. /

ForgT &7 3Mad=T 50 Aelieliey 9T AT BT &l

27) Why is it not possible to break the stream of water from an open tap by moving our finger in between the running stream of water? /



T #Y 4R ¥ A T S A g @ g A § PR T O Y e dow a4t
1. It is because the speed of the moving stream of water is very high. /

T gafT Ffy a B Rl R 7 AR aga 3w Al d
2. It is because the size of water molecules is very small for our finger to pass in between them. /

UHT FAfAT IR AT F AU FT HER AN 3Tl F g IR $ T Jgd & Sler giar ¢
3. It is because the water molecules are held together by forces of attraction. /

SUHT HRUT FE & foh Il & 370] HTHYOT oeT aRT Ueh q@R & &8 8 &
4. It is because the stream of water experiences gravitational force of attraction. /

T safav Fifn qrell T URT Icareh¥oT Sof T AT A &

Correct Answer :-

« It is because the water molecules are held together by forces of attraction. /

SHHT HRUT Tg ¢ o Ilell & 0] HTHYUT T GaNT Ueh q@r & a9 g &

28) Which among the following is a positively charged sol? /

Arff@a # & F31 yarcAs ¥ ¥ ARG e Rewa &
1. Arsenic sulphide / 3THAF Tewss

2. Clay / erett TR
3. Gelatine / foreidla
4. Aluminium hydroxide / TogHIfIH gISgIFaTSS

Correct Answer :-

« Aluminium hydroxide / umgﬂﬁlm REEEIES]

29) Which one of the following methods is used by you to control growth of weeds in agricultural fields? /

FR &l o GITEARt & Rew F Pt 5@ & e P & § e R &1 39 s g R s 2
1. Maintenance of hygiene / TaT&dl Hl IEIWIT

2. Prophylactic treatment / JPTRIEN 3TAR

3. Intercropping and crop rotation / EET;F\IJﬁ?T 3R wEe THoT

4. Genetically modified crops / 341303'@? ¥ Fgfta wae

Correct Answer :-

« Intercropping and crop rotation / SeIshITaeT 3R HH THOT

30) Which one of the organisms is likely to have maximum concentration of harmful chemical DDT in the aquatic food chain consisting
of King fisher, zoo plankton, fish, and phytoplankton? /

iR, mftrceras, Ao, ta deuTaas ¥ T ol @eg HEer # T F vF Aa § gers TwEfaE S H
HRAFAR Figar gt A FHEGAT g

1. Fish/ HASQN

2. Phytoplankton / 9I¢d Tolddh
3. King fisher / fhatfheR

4. Zooplankton /UTWW
Correct Answer :-

« King fisher / fRaifherR



31) Which two of the planets mentioned below have CO, as the major component of their atmosphere?
Earth, Venus, Mercury, Mars, Jupiter . /

A e v 2 IE A @ FEF TYHET F WHE@ geF F T H CO2 2

T, o, U, FT, e

1. Venus and Mars / {[sh 3R Harer

2. Venus and Mercury / sk 3R I

3. Venus and Jupiter / [sh kliny W

4. Mercury and Mars / 99 3R Harer

Correct Answer :-

« Venus and Mars / ?ﬁ 3R Harer

32) Which gas having an unpleasant smell is liberated when Ferrous sulphide is reacted with dilute H,SO4? /

T I WS A AW T H,50, F WH wE e § 7w 3R Ay f e A g oo B
1. Cl,

2. S0,

3.S03

4. H,S

Correct Answer :-

. HyS

33) Two unequal resistances joined in parallel are connected to a cell. Which of the following statements is true? /
ar s gfady e w9 @ 93 § 3R vw A9 & wafSa §) Peaf@a & & Fla-ar v v @
1. Potential drop is same in both. / Td¥d TdeT g1 & TAA g1

2. Potential drop is less in the smaller resistance. / B¢ 9faer & AHa udsT & gl

3. Current is more in greater resistance. / g3 gfarrer & arr 319 %’I

4. Current is same in both. / ¢IRT &A1 7 AT gl

Correct Answer :-

« Potential drop is same in both. / f3%7d Ia=T gt & TAT gl

34) _ displaces zinc from ZnSOy solution. /
ZnSO, e aa ¥ i &1 faegder #yar 8

1. Copper / dtaT

2.Lead / €MT

3. Iron / 3T

4. Magnesium / IR

Correct Answer :-

« Magnesium / #INRT#H

35) What test measures, through tasks, the ability to apply the skills and knowledge learned? / s &T gqdiator Hrat
¥ AEIH W/, FhrAT AR AT FY AR T Y & @@ F AT 82

1. Breadth test / @3T8 T{raqor



2. Power test / 2Tf&Fd greqor
3. Speed test / 3T TLIETOT
4, Performance test / ';I'c.\"?i?f dreTor

Correct Answer :-

« Performance test / 9&2TaT T{Iayor

36) Learner-centered assessment process does not focus on: / f%meﬁaﬁ?-r 3Tholel 9fhaT I asﬁa Flﬁ

gl B

1. Assessment of learning / T[T T 3TholeT

2. Assessment for learning / FfeeTH & T e

3. Learner’s individual performance / IRGIBIC IR EG UG R G

4. Learning the process and experience instead of learning the product / 3c9TG & T&TA Fr Fomg gfehar 3R 3Heg3a
&1 3feeTH

Correct Answer :-

. Assessment of learning / 3IfE9TH &7 3TTehetel

37) Raj pets a dog behind its ears because he saw his father doing it. What type of learning is he exhibiting? / TsT T&
FA F 3T P F NS A5 R FaT ¢ FAF 300 39a Rar FF ¥67 #0281 911 7% F R F
FfeT &7 yede T W 8

1. Instinctual learning / #el WH@W (3?-?@'%[3-1? wfetan)

2. Observational learning / W&TOTRT 37T (3iTesTdrlaTel afetan)

3. Socio-cognitive learning / TTHATTSR-TATATCHSE TRTH (TNAST-FHIIAICT felar)
4. Latent learning / 37eged 39T (elce afetan)

Correct Answer :-

. Observational learning / J&Tofir 39T (3iTeardersTer dfeian)

38) Which of the following is a myth about science? / fAFafaf@a # ¥ H9-T1 Raer F TR A vF Ayw ¥
1. Science is perception/ fa=IeT 3fFZAAT §l

2. Scientific knowledge is absolute / aTfaieh AT fATUET &

3. Science is dynamic and tentative / fa=reT arfarefier 3R Fefaa gl

4. Science and its benefits are universal / Ta=TTeT 3R g8% oTeT Frasifas g1

Correct Answer :-

. Scientific knowledge is absolute / d3Te1eh T faRTeT gl

39) Which type of memory stores information relating to ourselves? / fFe &R &1 Ffd Fad ¥ T ARy
I FIA 8?2

1. Autobiographical memory / 3TcHBUTcHN Fﬂ_ﬁ'
2. Episodic memory / 9T 31 Q—j:cl_ﬁ
3. Biographical memory / Siideileh Fﬁ[ﬁ



4. Declarative memory / EISUTcHS Q—TI‘:%

Correct Answer :-
« Autobiographical memory / ATcHBUTcHD Fﬂiﬁ

40) Akash will reach his school in 15 minutes on his bicycle. If he rides his bicycle with an average speed of 3m/s,
then how far is the school from his home? /

afg smrer roelt wEfRe 3 e / Jhs A Itwa AT ¥ Terar R, A TF A9 WRRFT ¥ 15 Bee F A g gg@m, @
3% W & THo fhaet gy &

1. 2700m/ 2700%To
2.270m/ 270 Hro
3. 45m/ 450

4. 450m/ 450 HYo

Correct Answer :-
« 2700m/ 2700FTo

41) What are the advantages of keeping an apiary? /
AYHTAITET @A S T ATH 82
1. Honey is widely used all over the world. /

B T AT RAEGT §T & O g F g §
2. Bee keeping is a low investment scheme. /

Hﬂﬂ?@’rwwﬁmﬁa‘arm%

3. Bee keeping is an agricultural enterprise, for the collection of honey as well as beehive wax for medicinal purposes and will be an additional
income generation for the agriculturist. /

AT & HAEUT & ATY & I 3egedl & AT off AYAHA g AYAFH dreld H 3T § 3R Fah & faw ifaRked 3
YT §

4. Bee keeping does not need much investment and can be grown anywhere in the garden or even on roof tops. /

AYAFHY qlelel & T 3iferen fFder 1 3maegendr #€1 & 3R 38 w9l o1 od, HeT o ATl har S Fevell &

Correct Answer :-

« Bee keeping is an agricultural enterprise, for the collection of honey as well as beehive wax for medicinal purposes and will be an additional
income generation for the agriculturist. /

AGS & FAGUT & WY & 3N Iegedl & v off AgAH g AYAFE Ureled FIY 3T § AR Fweh & faw sfaRera 3
AT &

43) “Assessment is both reflected and reflecting process”. In this statement, reflected and reflecting words are used in reference to

and respectively. / "3{iPHdH, ufvaféa (ﬁ'ﬁﬁ%@) 3R ufafdfaa w2 (mﬁ'ﬂ) P ufepar gl %I“ £l
FYTY, umm(mm)mmmm(ﬁmﬁmmmwmmm 3R &
e o R wtra gl




1. student’s feedback, teacher’s feedback / &I T ‘;Iﬁ'c_l"ﬁ', et fr Qﬁgﬁ'
2. student’s performance, teacher’s performance / S bl ge 2T, 18T I JeeieT
3. teacher’s feedback, student’s feedback / fRreTer T Elﬁ'gﬁf, BIERCT] ‘;Iﬁ'gﬁa'
4. teacher’s performance, student’s performance / TR1&Teh T geeTe, BT &l 9l

Correct Answer :-
. student’s performance, teacher’s performance / ST HT UGN, & FT TgTeT

44) What is the duration of kharif crops. /
TOE wua ot 3@afy 71 g?

1. June to October. /EI'\FI' T s dh

2. March to September. / AT ¥ fAdssR d&
3. November to April. / TR I 0 TH

4. October to March. / 3E¢ER ¥ e 9%
Correct Answer :-

+ June to October. / S[eT & 37eFge} deh

45) The correct statement among the following is: /

faddafieu=s:

1. Dry ammonia has no effect on litmus paper / [Seh IAATT F foeAad IR W HIS YAG g1 95T
2. Curd is basic in composition/a'gf TIeT /e %’

3. Solution of glucose in water is acidic / grelT & mﬁsr FT Ao 3T %’

4. HCl is a weak acid / HCI Teh @?»r HFT &

Correct Answer :-
« Dry ammonia has no effect on litmus paper / qsh IAAGT FT foeAad I W IS YA 787 95T

46) To bring a charge of 5C from infinity to a point in an electric field, 50 joule of work is done. Find the potential at that point. /
Tw fagya &3 ¥ 3rd | 5C FT 33 TS fig 9 aM & g, 50 5@ 1 wrf farar wrar 21 39 fig W fava gma «¥)

1. 250V

2.25V

3.0.1v

4. 10V

Correct Answer :-

. 10V

47) Two forces are acting on a body such that the angle between the direction of application of the forces is 60°. The minimum
number of force needed to keep the body at rest is:

3 90 T e R o1 37 78 € 99 % aat & srguai @1 fexn & dta &1 #1ur 60 © 71 g F favm R e & e
TIGP GAqH T=T 99 8:

1. Only one force /&dd T g
2. Two forces / & ol
3. No additional force is required/t‘ﬁé’ sfaRea so 3maTs 87 Bl

4. Three forces / dieT of



Correct Answer :-

« Only one force / Fael T&h ol

48) Amplitude of vibration of body is the deciding factor of :
| Frora & S & 3 o1 Fuiae eRE §:

1. The quality of sound produced / 3cUTied &afeT T 0T

2. The intensity of the sound produced / 3caTied &afer I daar
3. The period of vibration / &9sT HI

4. The frequency of sound produced / S®Tfed & HI 3Mgfi

Correct Answer :-

« The intensity of the sound produced / 3cqTiGd €afel I dradr

49) Ecosystem is constituted by /

RIS =1 &7 fAmior %9 | g g:

1. Dead organisms / §d Sha

2. Only biotic components. / ael SATde Teh

3. Only abiotic components / shdel 37oifdeh HTeHh

4. Both biotic and abiotic components / Sifde 3 315iaew gesh glar

Correct Answer :-

« Both biotic and abiotic components / Sifaer 3R 3&ifa® Tgew gl

50) A vehicle is moving with a speed of 90km/h. What is its speed in m/s? /
TS argd 90 fiit/der &1 iy T oM ggar 81 Hex/A. & fpa 82

1. 90 m/s/ 90 HeY/Ho

2.15m/s/ 15 #Hey/Qo

3.2.5m/s/ 2.5 HeT/To

4. 25 m/s/ 25 HeI /&0

Correct Answer :-

« 25m/s/ 25 He/Ao

51) A teacher can use which of the following strategies of teaching to complete the syllabus for a class having majority of students

with different learning pace? /WﬁT&W 3ffrepigrd: m—mﬂﬁrﬁmﬁmﬁmﬁwmn%maﬁmm%%
e Fafafaa & ¥ fa Jorifa &1 STt & aear 82

1. Use of ICT resources / 3TSHIET THTEAT T 3UATaT

2. Individualized classes / STTFAINT HENT

3. Conducting tests every week / 8% TTcTg GI&T0T ITATHT FHLAT
4. Teaching only limited syllabus / shdel EIAT ITSTsha TGTAT

Correct Answer :-

. Use of ICT resources / 3TSHIET AT T 3TJET

52) A-ion containing 18 electrons and 18 neutrons. Name the element A. /

TP 3G A A 18 g 3R 18 [T &1 Ied A BT 19 Fard|



1. Potassium / 9refRras
2. Chlorine / FRIT

3. Nitrogen / =ITSgISTel
4, Aluminium / UW

Correct Answer :-

« Chlorine / FeRIT

53) Animal parasites are also consumers. Identify the ecto parasite from the list given. /
T3] weltdt off S g 31 & S It | SRRl 3 ugae
1. Lice / GT:

2. Plasmodium /CelTea3as

3. Pinworm / fU&H
4. Tapeworm / m

Correct Answer :-

54) A student with a scientific attitude will: / AP TIFBIT ITEAT TP BT I -

1. Develop independent thinking / Tada Org AefAd H arer

2. Admit their mistakes only under duress / 379l ITATAAT Sl Thadl Gald H TAIRR el arel

3. Ignore details irrelevant to the task at hand / &1 & F o F T 3ERAE a0 & AC@T FA arelr
4. Suspend the judgement after one-time confirmation / Yh-dR Pl gi@ & diq fufg wifiid S aren

Correct Answer :-

. Develop independent thinking / Tady A9 Asfaa s arer

55) What is the basic education qualification laid by the Educational departments of the majority of states for a high

school class science teacher? /| Th 3 faermerg att ﬁiﬂ? fQT&IT:F > 1%I'l;I ST Il &b ‘\?Iﬁﬁﬁ faur gry
Fruffa gaya Rrem gy w1 82

1. Bachelor degree in any subject / fordlt 8 fawr & Frds 3urfar
2. Bachelor of Education / T8 & &de

3. Bachelor of Science / T&3TeT H &ATde
4. Master of Science / ﬁ?‘ﬂ:[ T Fde R

Correct Answer :-

. Bachelor of Science / [@a & T

56) A learner is able to solve numerical on current. According to Dale’s ‘Cone of Experience’ he has most
probably . / T FRemef, 4RT (F¢) W T=ATHS Y B g HI1 A W 81 39 & "I AP
TEURGT & IR FHad: 394

1.read a book / qEAD uér g
2. watched a demonstration / Ueh 9eeT &@T %’
3. role-played a situation / Teh FEATT & ﬂﬁ'aﬂ oS §

4. heard a lecture / Teh ITEIT el g



Correct Answer :-

. watched a demonstration / Teh Y&l S@T §

57) Achievement data is collected with a focus on the science content that is most important for the students to

learn. Which of the following facts leads to a contrary opinion? / IuAtRl %ET, ﬁ?lT:T IR R AaA FfraFA &
1Y THA fbar Srar 8 ) B & e F g 9ad veayef 31 Fafafea § @ 19 w1 aw fauda w 3ar @2

1. Equal attention given to the assessment of opportunity to learn and achieve / Hrger 3R gred e & EW &
JHheld WX TAT €1 el

2. Knowing and understanding scientific facts, concepts, principles, laws or theories / AT 2T, 3TaUROm3,
e, fagat a1 Reerdr 1 Sefer 3R g

3. The ability to inquire / TS sl I &THT
4. Focus on intelligent students only / shdel g?:ﬁ??l?r BET 9T 1T ol

Correct Answer :-

- Focus on intelligent students only / del gq@ma BT W &1 STl

58) Which of the following learning approaches can help a student to summarize the material for exam preparation?
| Fafafaa o @ 19 a1 siftem edEivn, te o &1 wien 3 dard) & e Il #) aRifRh $33 ° geg R
Tl 82

1. Experimental learning approach / Irafateh 3if&erar gfecahior
2. Concept mapping / HeheUell HIITIFTOT

3. Rote learning approach / H&¥Y 3T EfecahIoT

4. Problem solving approach / THEAT AT T Scahlor

Correct Answer :-

. Concept mapping / TehedalT HATATIAUT

59) The emphasis from teaching to learning can be achieved / f&10T & HfIH d& TURYT F1 Ao GAaRT 9red
fFar s g &

1. by encouraging rote learning / ST TAIH FI WcAIlgd Ieh

2. by helping child achieve good examination results / ST &I 37TeF GAUETT IRUMH YTd el H HGG I

3. by adopting a lecture style instruction / Ueh STEATT el G &l ITTATR
4. by adopting child-centred pedagogy / STel-chigd TRAGTRIET I TATH

Correct Answer :-

- by adopting child-centred pedagogy / STel-chigd TRAGTRIET &l ITATHT
60) Fever is caused due to the /

@R FT FROT T §:

1. overgrowth of bacteria /a?aﬁ?’-ﬂ AN OIS ED q‘dﬁT

2. overgrowth of virus / AR HT IFTTAH agj%r

3. overgrowth of pathogens / ATSTeTehl HI TS acajﬁ

4. body inhibiting the growth of pathogens/%lﬂ? TSTARl & fahrE ST Jehar %\'

Correct Answer :-



« body inhibiting the growth of pathogens / SRR W3TSTaTehl & faehr &l Ashdl &



